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SUBJECT

DETAILS

ENGLISH

Character Collage

Select a character from your *Literature Textbook* and create a collage using
magazine clippings, drawings, and symbols that represent their traits and journey.

Art Form: Visual Arts (Collage Making)

Integration: This project combines literary analysis with artistic expression, helping
students delve deeper into character study.

You can use...
1.Visual Representation of Characters ( looks, facial expression. Attire etc)
2.Incorporation of Meaningful Quotes
3.Character Map or Web
4.Physical Appearance-Facial Features
Body Type/Build
Clothing and Accessories

WORKSHEET
L-1 HOW | TAUGHT MY GRANDMOTHER TO READ
_Q1.“But | know it was not possible. If only | was educated enough.....” Describe the
circumstances that made the grandmother realise the importance of education.

Q2. How did Sudha Murthy adapt her teaching methods to suit her grandmother’s learning
pace?

Q3. Explain the role of determination in Sudha Murthy’s grandmother’s journey to literacy.
Q4. How did Sudha Murthy bridge the generational gap in her approach to teaching her
grandmother?

Q5. Analyze the emotional impact of literacy on Sudha Murthy's grandmother.

Q6. Discuss the broader societal implications of Sudha Murthy teaching her grandmother to
read.

L-2 ADOG NAMED DUKE

Q1. Chuck was going great guns before he faced a major setback. How did his life change all
of a sudden?

Q2. Were the Hoopers' new neighbours aware of the story of Duke and Chuck? What did they
see every day?

Q3.When Duke was brought inside the house after he had met with an accident, Marcy
observed something. What did she notice?

Q4.. How did Duke’s master react and what did those who were standing there observe?
Q5.Discuss the symbolism of dog leash in the story.

Q6. Imagine an alternative ending to the story “A dog named Duke”.

POEM — 1 THE BROOK
Q1.How does the poem relate to the natural world?




Q2. How does the poem relate to human existence?

Q3. What all poetic devices are used in “The Brook” by Alfred Lord Tennyson?

Q4. The Brook’ proceeds like a travelogue. Discuss the importance of the various places that
the brook comes across on its journey.

Q5. What is the symbolic meaning conveyed by “For men may come and men may go, but | go
on forever”?

Q6. Describe the journey of the Brook, originating from the ‘haunts of coot and heron’, joining
the river, as its final destination.

POEM -2 THE ROAD NOT TAKEN

Q1.How does the traveller’s choice reflect on the importance of making decisions for oneself,
even if they are difficult or unpopular?

Q2. How does the poem’s two paths in the woods show the choices we make in life, and how
do the places we are in affect these choices?

Q3. What does the poem The Road Not Taken say about the value of accepting the
consequences of our decisions?

Q4. What might the undergrowth and untrodden leaves signify in life outside of the poem The
Road Not Taken? Give examples of ‘roads’ in life that might be less travelled and why someone
might choose them.

Q5. Reflect on the significance of the roads being ‘equally lay in leaves no step had trodden
black.” How does this speak to the opportunities life presents to us?
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IT Lesson-2 Data Entry and Keyboarding Skills
Answer the following questions:
1. Discuss the various types of keys available on a computer keyboard.
2. Differentiate between Home Keys and Guide Keys.
3. What do you understand by Guide Keys? Name the Guide keys of a
(a) computer keyboard
(b) typewriter
4. Explain the role of typing ergonomics.
5. Why the use of various typing software is common now-a-days?
6. Mention the finger allocation of keys of the Bottom Row of computer keyboard.
7. Explain various mouse operations.
8.Discuss the various types of keys available on a computer keyboard.
9. What are the important points you will keep in mind while keyboarding.
MATHS | “Discovering Maths Through Projects”
KNOW ABOUT THE STORY OF Pi (11) The number pi (1) is one of the most
intriguing and significant constants in mathematics Make a project on A4 size sheets
(two only ) in a creative manner about the story of pi which emphasize the historical
development and wide-ranging significance of pi in mathematics and beyond
“Hands-on Maths: Creative Models"
Each student is required to make a Maths model based on the allotted topics. The
model should be simple, creative, and made using easily available materials like
cardboard, chart paper, glue, sun pack sheet etc.
Roll. No. Topic Description
Roll no. 1 to 6: Coordinate Geometry show the two axes, four quadrants,
location of some points etc.
Roll no. 7 to 12: Algebraic Identities verify: (a+b+c)?>=a?+b%+c?+
2ab + 2bc + 2ca
Roll no. 13to 18:  Algebraic Identities verify: (a+b)(a-b) = a2-b?
Roll no. 19 to 24:  lines and angles point, line segment, line, ray, angle,
types of angles and their relation etc.
Roll no. 25to0 30: Parallel lines parallel lines, intersecting lines,
transversal, angles made by
transversal etc.
Roll no. 31to 37:  Surface area and Volume  3-D shapes like cube, cuboid,
cylinder, cone and sphere with
formulae of their surface are and
volume.
NCERT Exemplar
Do all solved examples and exercise questions of Chapter 1 and 2 from NCERT
exemplar in a separate register.
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SCIENCE

Q1. Boiling points of ether, acetone and alcohol are 35°C, 56 °C and 118 °C respectively.
Which of the following set correctly represents the boiling points on the Kelvin scale?

(a) 306 K, 329 K, 391 K
(b) 308 K, 329 K, 392 K
(c) 308 K, 329 K, 391 K
Q2. Evaporation is directly proportional to

(a)Surface area (b)temperature
(c)wind speed (d)all of these

Q3. Plasma membrane is mainly composed of

(a)Cellulose (b) lipids

(c) proteins (d) both band c

Q4. Cell theory was proposed by

(a)Robert hook (b)Leeuwenhoek
(c)Schleiden & Schwann (d) Robert brown

Q5. Cell wall is

(a)Dead and impermeable (b)Dead and permeable
(c)Living and impermeable (d)Living and selective

Q6. Find out the false sentence.

(@) Plants absorb water by the process of osmosis.

(b) Amoeba obtains its food by the process of endocytosis.

(c) CO2 move in and out of the cell by the process of diffusion (d) unicellular fresh water
organisms gain water through diffusion.

Q7. Which of this organelle is not present in human cheek cells?

(a) Nucleus (b) Chloroplast
(c) Lysosomes (d) mitochondria

ASSERTION - REASON

Directions: In the following questions, a statement of assertion (A) is followed by a

statement of reason (R). Mark the correct choice as:

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A).

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation
of assertion (A).

(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.

Q8. Assertion (A): sponge is the solid matter which we easily compressed by our hand.




Reason (R): Sponge has minute hole which is full of air by pressing it the air is further
absorbed in hole.

Q0. Assertion (A): Mitochondria and chloroplasts are semiautonomous organelles.

Reason (R): They are formed by division of pre-existing organelles and contain DNA but lack
protein synthesizing machinery.

Q10. Assertion (A): Rasin is swell up when it gets contacted with the water. Reason (R):
Rasin gain oxygen from water by diffusion

SHORT ANSWERS:

Q11. Liquids generally have lower density as compared to solids. But Rahul observed that ice
float on water. Justify

Q12.Write three differences between plasma membrane and the cell wall. Also, write two
functions of each.

Q13. If you are provided with some vegetables to cook. You generally add salt into the
vegetables during cooking process. After adding salt, vegetables release water. What
mechanism is responsible for this?

Q14. Why do the doctors advise to put strips of wet cloth on the forehead of a person having
high fever?

Q15. 100 ml of water was placed in four vessels A, B, C, D. Vessel C, A and D are of same size,
B is smaller. Vessel Cis covered and C and D are placed under the fan

S8

Placed under fan

(I) In how many beakers, water will escape into atmosphere as vapours ?

(II)  After one hour from the beginning of the experiment the water level will fall to
the maximum in which beaker?
a)C b) A
c)D d) Bothin Aand D




Q16. Analyse the temperature versus time graph of water, given be

A
/e

T 100} --------ccmmmmm e .—D——
o
g c
é Op-----= -—
E-10t A
-

Time (minutes) —»

(I) Which region contains all liquids?
(II)  Why steam at 100°C is better for heating purposes than water at 100°C.

Q17.

s mm——

Name the changes in the terms of process P, Q, Rand S?

COMPETENCY BASED QUESTIONS:

Q18. Sania conducts an experiment to know how plant cells lose or gain water through
osmosis. She cuts out 5 cm long potato strips. She puts three potato strips in each of the

following beakers:
Sania leaves the potato strips in the beaker for 5 hours.
e Beaker 3 containing 2% salt solution

e Beaker 2 containing 1% salt solution

e Beaker 1 containing only water




| _ potato A\ potato \\\ potato

\ //~] strips ‘ \ 8 / / strips -\,, =i strips
Beaker 1 Beaker 2 Beaker 3

water 1% salt solution 2% salt solution

Sherecords the length of the potato strips in each beaker after 5 hours.

Length of the potato strip Length of the potato strip
before placing in the beaker | after 5 hours in the beaker

(cm) | (cm)
Beaker 1 50 | 5.3
water [ 5.0 [ 52 1
5.0 52
Beaker 2 5.0 5.0
1% salt solution 5.0 5.0 !
50 49
Beaker 3 5.0 4.8
2% salt solution 5.0 4.9
5.0 4.7

What can Sania conclude from her experiment?
(@) Cells gain water through osmosis when kept in salt solution.

(b) Salt molecules from the cell move out when kept in water.
(c) Cells in salt solution first gain water and then gradually lose water.

(d) Water molecules move out of the cell based on the amount of salt in the solution. In
which beaker was the concentration of water molecules inside and outside the potato
cells likely to be the same? Explain your answer

Q19. Tina found a syringe in her science lab. The mouth of the syringe was closed with a
rubber cork. Tina tried to press the piston of the syringe as much as possible.

e piston
piston being
pressed down
— gas

\F rubber cork

(a) Tinafound that it was difficult to piston as it moved deeper. Explain the reason with
reference to the change in space between the particles.




Tina found three more syringes of the same size closed with rubber cork. She took the piston
out of each syringe and fiiled the with coconut oil, saw dust and cotton. Tina closed the end
of each syringe with piston. She then tried to press the piston of each syringe as much as
possible.

- Sawdust - Cotton

- o

Swyringe 1 Syringe 2 Syringe 3

- Coconut ol

(b)  Arrange the syringes in increasing order of difficulty of pressing them

Key: less difficult - more difficult
A. Syringe 1 - Syringe 2 - Syringe 3

B. Syringe 3 - Syringe 2 - Syringe 1
C. Syringe 1 - Syringe 3 = Syringe 2
D. Syringe 2 - Syringe 3 - Syringe 1

COMPETENCY BASED QUESTIONS(MOTION)

1.A object goes from point X to Y and then comes back from Y to X. What is the displacement
and average velocity?

2. Four Cyclist A, B, C, D starts at the same point and at the same time and move in a straight
line to reach destination. They all move with uniform velocities. They reach the destination in
the following order

—->A->B->D
Answer the following questions

a. If the displacement-time graph is plotted for each cyclist, which will be having highest
slope

b. Arrange the cyclist in decreasing order of velocity

3. What do you infer if ?
1. Distance —time graph is straight line
2. Velocity —time graph is curved

3. Displacement —time is zig zag




4. When an object is thrown upwards, what is true of velocity and acceleration at the highest
point of motion of the object?

5. True and False Statements

A\. Displacement can be zero but distance never

B. Displacement magnitude can be greater than distance travelled by the object
C. Time is a vector quantity
D

. If the velocity of the body decreases with time, the acceleration is negative
(retardation), and the motion is called decelerated motion

E. The area of the velocity time graph gives displacement of the body
F. Acceleration is a scalar quantity

G. Motion and rest are relative terms

I. an object can be moving with Uniform speed but variable acceleration

6. An air-plane accelerates down a runway at 3.20 m/s2 for 32.8 s until is finally lifts off the
ground. Determine the distance travelled before take off.

7. A Jeep starts from rest and accelerates uniformly over a time of 5.21 seconds for a
distance of 110 m. Determine the acceleration of the Jeep.

8. John is riding the Giant Drop at Canada. If John free falls for 2.6 seconds, what will be his
final velocity and how far will he fall?

9. A racing car accelerates uniformly from 18.5 m/s to 46.1 m/s in 2.47 seconds. Determine
the acceleration of the car and the distance travelled.

A feather is dropped on the planet other than earth which has very low acceleration due to
gravity from a height of 1.40 meters. The acceleration of gravity on the other planet is
1.67 m/s2. Determine the time of feather to fall to the surface of the other planet

SOCIAL
SCIENCE

PART-1 PROJECT WORK ON DISASTER MANAGEMENT

Significance of doing a project on disaster management in social science: As students of social sciences
and as conscious citizens, doing a project on disaster management is going to give you a first-hand
experience and opportunity to get yourself familiarize not only with the meaning, factors, etc. of
disasters but also to learn the essentials of disaster preparedness and ways to collect relevant
information pertaining to disasters and its effective dissemination.

A. Make a project on earthquake prone areas in India — causes, impact on life and property seismic
zones, mitigation strategies used to reduce the impact in earthquake prone areas. Or

B. Collect information on areas prone to cyclones in India — warning systems, effects of cyclones,
mitigation strategies to be used while construction of buildings.

*Guidelines for the project

a) Project to be done on A-4 size sheet.

b) Project should be hand written for 5 pages.

¢)On the first page student profile to be given — Name, Class, Roll No., Name of the school, year of
admission and topic.




d)Acknowledgement

e) Content or Index

) At the last Bibliography or references.

g) Newspaper cuttings, maps, diagram, illustrations are must.
h) Project should be strictly based on India.

i)Use your Disaster Management book for reference.

) Try to integrate different forms of art in the project.

PART 2 : Topic: Forest Society and Colonialism (History) and Natural VVegetation and

Wildlife(Geography): Report Writing/Poster Making/Flipbook/ Brochure- Highlighting the ways to

protect the forest vegetation and wildlife in India.

Points to be covered-

- The role of government in protecting the forest cover and the wildlife.

-Tracing, how tribals and other forest dwellers suffered and protested during colonial regime. Mention

specific events and forms of protest by tribals: The revolt of the Santhals and Bastar Rebellion

,Resistance by the Gonds, Describe the Forest Acts imposed by the British and how they restricted the

rights of tribal communities and forest dwellers.

PART 3: QUESTIONS

Instructions for Completing NCERT Questions in the Fair Notebooks.

- ""Specific Heading to Be Used in the Notebook for NCERT Questions™

-All questions at the end of each chapter must be attempted in the notebook.

-Answers should be written neatly and in complete sentences. Avoid one-word answers unless

specifically asked.

-Use headings and subheadings wherever required for clarity.

-Maintain the proper sequence of questions as given in the textbook.

-Ensure that your work is free from spelling and grammatical errors.

-Update the index page regularly and mention the page numbers properly.

-Work must be your own and not copied from others.

-All work must be completed and submitted on time. Late submissions will not be accepted.
CHAPTER-1- Complete NCERT Questions-Questionl to Question 6 along with extra

guestions.

CHAPTER-1- Questions-Question 1 to Question 4 along with extra questions.
CHAPTER-2-Questions-Question 1 to Question 6 along with the assignment given below.

CLASS IX -ASSIGNMENT -CHAPTER- PHYSICAL FEATURES OF INDIA

1.Describe the main features of the Himalayas. Explain the division of Himalayas from north to south
and west to east.

2. Define Duns. Give two Example of Duns.

3.State the Meaning of Doab and Punjab.

4.Write a note on Eastern Hills.

5.Give an account of Northern Plains of India.

6.Distinguish between Bhangar and Khadar.

7.Which region is known as Terai?

8.Explain the main features and divisions of Peninsular Plateau.

9.Define Riverine Island.

10.Give an account of the Indian Desert. Name the river that flows in the Indian Desert.

11.Define Barchans.

12.Define Coastal Plains. Compare the features of Western Coastal Plains and Eastern Coastal Plains.
13.Describe the main features of the eastern extension of the Central Highlands.

14.Distinguish between Western Ghats and Eastern Ghats.




15.Mention the name of the highest peak of Western Ghat and Eastern Ghat.
16.Describe the Island Group of India.
17.Where is India’s only active Volcano found?
18.Mention and Explain the major Physiographic Divisions of India.
19.How does each physiographic region of India complement the other and makes the country richer in
its natural resources.
20. Locate and Label the following on the map of India:
(a)Mountain Ranges: The Karakoram, The Zanskar, The
Shivalik, The Aravali, The Vindhya, The Satpura,
Western and Eastern Ghats
(b)Mountain Peaks-K2, Kanchan Junga, Anai Mudi
(c) Plateau — Deccan Plateau, Chota Nagpur Plateau, Malwa
Plateau
(d) Coastal Plains — Konkan, Malabar, Coromandel and Northen Circar
CHAPTER-1 Questions-Question 1,2,3,4,5,6,8,10,11,13,14 along with extra questions.
CHAPTER-1 Questions-Questions 1 to Question 8 along with extra
guestions.




